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i 880 ENGLISHE

Noter Give the vight option for ench of the following questions
L Iotlation in the countey __ lnwtyenr to over elovon percent o pull
\uiQ'\\ \\}3@ U“ d@\'\“(‘l‘@d (U) h'wrmmcd )
£ ¢
. The torm e one who te without tult and o limponsible to eritlolze 1 ocoe

LA Tadwirable () vopronohable  (C)  meyltorlous (1) Mustrious
o ‘

d

The antony e “ropugnant™ would bo '
W) disageeeable () dntolorable (€, Inwensible (2 dellgct
\r\, T0 ke no bones about somothing moeans

0 to say eleacly what one thinks, (D) torefuse to work hard,
L) w0 make no progross at all, (1) ' to be In despair

S Weare sorry having disturbed you, \
Q) on B) in (GY for (D) of
& Hegotdelayedashisear __ petrol, '
Q) elloutof «(B) v out of (:(t.{)\’,"'wcnt out of (D) got out of
T - he did not know what to say, he remained silent,
AN As (B) Though (€©) Until (D) Unless
(N reters to reporting someone ¢lse’s statement in your own words without changing
the meaning of the statement. ] g
(A) active voice (B) passivevoice  (C) direct specch (D) indirect speech
9.

The verb present in the reporting speech is known as the ___.

{A) helping verb rcb'ér't&l“\“/crb (C) puossiveverb (D) reporting verb

@f A sentence consists of one independent glause and one or more dependent clauses.
(A) . simple ,QA; complex &Q)’ compound (D) explanatory
“'—‘.’_NQ

< N refers to a group of two or more words that usually go together.

(A) Allophone (B) Homophone (C) Collocation (D) Locution

12 tense indicates that an action began in the past and is still going on.
(A) Present indefinite (B) Past indefinite
(C) Present perfect continuous p.(.D)“"'l"ust perfect continuous
13. Can youswearto his _____ in your house that evening?
(A)Xbeen (B) to have been  La4@)* to be (D)  having been
: ¢ X A’
(314> Would you approve if 1 had this article _____? o
(A) copied (B) be copied \5@ to be copied (D) been copied
e i dog had run away and the kids find it though they were looking for it the whole
. day. A
N (a&) may not (B) would not ©) c:}\ not \vw) could not
' CCDEO " - 2 '




16. HUREE-NI fagz Gy

(A) W B) W ey feg@ (D) o=
17. TINT WEE e ndEg . el

(A) ¥ \_(B)E@ ©) T (D) TIW
18. B9 wye few fudsa D

(A) g (B) <@ @y (D) T

@‘ VTS T ANTETIE Hew O ' ' ' '
/)(ﬁ% famerarg (B) wfggg j fote @) ez

20. v feddt mee 3 , : ,

A f53 (B) R © BE - upy R
21. I3 (it fed it egq aie 9

(A) s (B) BA ©) yusHIR (DY S
22. i< i fdabort famt 982

(A) T3 N © 8 - (D "

23. wmmamme@waﬁ@a.mmmmmm@mm :
Gy,

(A) fordemayzale @B{’fﬁﬁmm
(@)~ HETeRd YT : (D) yauewauam

24. I3 it fed wifsmeees ygaie O LA
(A) feg (B © # (D) ¥e

25, WETyg fgar 3 fon e few mee foar fafem < fagd fami 3
(A) W fafan (B) Hgsd fafani w/ﬂarfaafah»ﬂ (D) ﬂ;aﬂafafaw

ZRaar3 fafgnr St Jet 37 )
Qo R feferguizAdarded
(B) 1 fafgni 3 feRre T g I ¥
() 1 fafan w3 fafowr ferme @ Ava 3 &

(DY At fafoun 2 e 3 82
27, ORI YT T s i B |
- (a) &t (B) uf (C) (,garﬁsa
28, WYT YT I3- JT & I THL......
L w h @) 3T (ORREEL (D) »Tazne"t
29, WidF HEE File' T UATE AHTATIES HEE 0 W2
gAY e (B) T3 A€ BuT e (D) fims
30, 503 TU-9Y 3 A IfE B gaet mEE O
o (A) FoeEd _ (B niFEs
‘@ aaaa?ﬁ ' (D) a3 fed 3t =it

e A 3 ' CCDEO
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3. Basic Computer's Arcliltecture wie develuped by/
auQea vl dessas st onpen i i fopo ¥4
(A) Jordan Murn o WY Jokin Y on et
(C)  Charleg Babbage (12)  Vlaim Pasunl
32, Firgt Supercotputer developed in Indis i/
3193 18 b sl fotmn feppy spose A girs B :
(A)  PARAM ISHAN (13y PAHAM () EPAE AN () CEAY:
33. A Computer network which is used within a building s called/ |
feat e w3 s ady e AfuGes e 4 i e 4
A} LAN

(1 WA
(1)) Bohe of the wye
34. FTPis an acronym for / 119 fifit 252 $fégug agus 3
(A) File Translation Protocol ()
\AET” File Transfer Protoco

(C) MAN

File S ranvsmtion Vs
() None of the shye
35.  In a Computer, a byte and 4 nibble generally uomsists of/

e dfuQea fea, e smite w7 B, bzt mpevy S gy

(A) 8 bits and 16 bits respectively (55) 4 1ty undd 16 ity resppentived Vi
(C) 16 bits and 4 bitg respectively LBy Bt and 4 b resprtt ety

36. Which of the following enables us 1 send the Jeiter

W differem grrvoms in A% HWeord)
35 fefentt &8 ferarzn w1rls \S Wond 0202 Ttrpy iy U s oz © gy g
(A) Mail Copy (8) Ml Soin . |
Ley” Mail Merge (3) 3ty (hy 508 (Sl h) 74 (33 @5
37.  Shorteut key to go 1o Jast line in the decsmen
AR g il it 2w w e S S

(A) Ak+L LT Ctrl + T A (13) AW+ End

38.  Which command brings you to the first slide in your proserution’/
% . o, ¢ — o X 7
faadl Dz o zard L o st - Lt Sy
Ctrl + Home (1) Cid+ 4
(C) Both (A) and () (13)  Wone of the 2oy

39." What does am electronic spreadshiest consist o)l 5 Fetaztrg wisgho tta ot 4y,

Ky Rows/ gzt (53) Column) Pim
© celiy/

LI AN oA the wonrvel ‘-34‘4:5321:2 yiir)
40. What is the extension of VowrerVoins in MicrosoAs (i 21777

HERFIOE Wi 30057 P it o darseonss o By

(A) ptx

v (C) pip g (WD) Yone of the dhoye




MCQ
(PUNJAB HISTORY & CULTURE)

41. Which of the following metal was not known to Harappans?/

I5 fedoit 9 forael T3 3 Tut.=vft v o s ,
(A) Silver A By Iron/ BT (C) Copper/ 3@ (D) Bronze/ aFt

42. Taxila was one of the important center of learning in Ancient India till its decline iny/

Yis 3793 G 28 iy U3 36 fan AN 39 fun = wd3=yas et f&d ffa

(A) 8" century C. E/ 8& A=t Hi. &, (B) 10% century C. E./ 10 Al A, €.
(C) 5" century C. E/ 53 A A, €. (D) 12" century C. E./ 12& Al HL. &,

| 43. Which among the following is a Buddhist text?/ fea&i f&g fagz &t us &7
| _AA)" Agamas/ I ‘ (B) Lalitavistara/ Bfg3fersg
| (C) Digambra Siddhanta/ featea fAai3 (D) Yajur Veda/ WHd =€

44, Who among the following is the author of the famous story of Heer?/

I Tt &S Ja < vige Fordt T Jua e I?

(A" Waris Shah/ T'fdA #J £8) Bulleh Shah/ 8% H1J
(%) Sultan Bahu/ &35 ¥7d &) Shah Sharaf/ T'J Hdg

45. Dulla Bhatti is the folk hero of Punjab. He rose in revolt against the revenue policy of:/
¥ 93 g w B9 &ifed 3 A S igA g HEhn ai R fedu sgres gge it A
(A) Jahangir/AJTaNg | (B) Akbar MIEI
() AbdalimgaTet . (D) Shah JahawH'J AT

46. Urs attracts millions of devotees. It.../ IR By Aaugmi § waafias gawr 3 feg. .

(A) commemorates the initiation ceremony of the disciple./

33 2 Sfemr rdo & T feargerd
_(BY “commemorates the death anniversary of the Sufi saint./ He! A3 < g9 el 3

(C) commemorates the birth anniversary of the Sufi saint./ 521 H3 ¥ AiaH fes warfer d
(D) None of the above/ Quéaafé%éémﬁ

. 47. Where is the shrine of Baba Farid located?/ &men ode # & niHams fd Q)
 CKAJ Pakpattan/ YGYTH (B) Dipalpur/ TUrsyg
(C) Bahwalpur/ eBYd (D)  Sheikhupura/ Ty
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48.

©

49.

50.

51.

52.

53.

54,

bhatts/
Guru Granth Sahib contains the bani of how many bhagatas a"d; phat ;

I3 e fie e 3 gat 3det A wAwand 000 o
ai'!%) s

A) 13 bhogatas and 14 bhatts/13 FABWI 14T
15 bhagatas and 11 bhatts/15 FIB 3 11 8 :

(A) 11 bhagatas and 15 bhatts/1 1 SIE M3 1592
(D) 14 bhagatas and 13 bhatts/14 TS M3 13 <

Which Sikh Guru is credited with standardizing the commonly used scripts in Punjab into
Gurmukhi script?/ i

U &9 »i Tamit Tt fedit & gt fsul ¥ rmrdfteras argw & T fam iy
Jg AR '

(A) Guru Nanak Dev/ Jg 5769 ©< By Guru Angad Dev/ Ig niare 22
(C)  Guru Arjun Dev/ gg "Manis €2 (D) Guru Amar Das/ JIg "1HJ<TH

Which of the following cannon of Ahmad Shah Abdali was captured by Sikhs?/
HigHE T wEers] € Is fodbort 9 faradt Ju et & i@ aem e 3 58 /il
(A) Zam Zama/ TH AT . (B) Jahan Kosha Cannon/ #iT%& aH" 3y
(C) Jaivana/ T (D) Dala Mardana/ T8 HgeTaT

How many Kukas were blown by the British by tying to the mouth of the canon %/
vigrdHt & 3U R a5 ¥ A fld g8 G572 Hae ) ,
(A) 68 B 6 (© 6 (D) 67

The famous battle of Sargarhi was fought in/ FITH'EH'Q‘? B HEge st ¢ B aret we
) 1895 (B) 1899 : (C) 1897 (D) 1896

The Agrarian agitation of Punjab in 1907 was launched on which of the following reason:/
1907 g Urma & 9 #iewss I e &9 fm amas e g ot famer A

(A) Colonisation Bill/ gr3lads 55
(B) Land Mortgage Bill/ il fargdt fifs

(C) Moneylender’s Registration Bill/ H"ﬂﬁ‘ﬂﬁﬁﬂ%ﬁ'&
(D) None of the above/ QUda3 &9 et wff

Which of the following Committee was set ‘up-by the British

: _ N to investigate into

‘Disturbances’ after Jallianwala Bagh massacre?/ .

W@wmm;mmimaw " ¥ 7Y T wiH T I ferdnt R g
?

(A) Sedition Committee/ THUT N
(B) Rowlatt Committee/ 3% aN<

\_4€)" Hunter Committee./ J2T SNt

(D) None of the above/ Quda3 & It wf

CCDEO ; : 6




A8 Who among the followlog wrote *Pagel Sambal Jatta™/
vl afves vYer st R I s
(A)  AJiC Sty il g
V(Y Danke Dayal/ ale g
(C)  Dhngat Singh/ 8013 P
(D) None of the above/ QUi Y ) sl

( \”‘\ How many passengors were on bonrd in the Komagata maru ship?/
SOOIV T (R TS i) v sy
() 376 o B) 380
(© 379 m%f ok
R

57, Who among the following was the founder of the Arya Samaj?/
A siemit R e s i e dranys we
(A)  Dayanand Saraswatl/ THGE Rares)
3 Raja Ram Mohan Roy/ R I™ NI TR
(€)  Swami Vivekanand/ nenl fRadw
(D) Jyotiba Phule/ Rfter 08

&R,  Who was the Lt, Governor of' Punjab at the time of Jallianwala Bagh Massacre?/
Al g @ AR AW Uiy w Jgede aRasd I H?
L(A)” Michael O'Dwyer/ Helas Grafea
CTR) Gen. Reginald Dyer/ FSTS IRGTES SEg
(€)  Bdward Maclagan/ NETIT NIJTS
(D) Denzil Ibetson/ S fodters

59,  Who among the following is the writer of “Aaj Aakha Waris Shah nu kite Kabra whicho
bol™/
Wi efn g § 2 wEe RS i e R AR
(A)  Waris Shaly QfgH ¥

L (B) Amri Pritam/ I EARY e
(€) Sahir Ludhianvi/ wivg ghmred

(2) Mohan Singh/ nuw

60.  The memorial dedicated to treedom struggle in Punjab is located at ¥/

Wme g pdaast dara § miefis wrears i /s 9
(A)  Amritsar/ WHIHI (B) Kartarpur/ SIITYT
W{€)" Ludhiana/ Fltmrar (D) Jalandhar/ W¥ug

G ! CCDEO
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" . 0/ aw;
61. Politics of Consensus has been seen iniwhich of the following? /

I fosaiimit FAY form g wfiov o avedlal e areh 9 0 e
LAY~ Coalition Government/ JfsRa HIAT |

(B) Working of Judiciary System/ femit 1]'('_"@1 ar 'dH-W

(C) Working of Parliament/ HFe &1 gH.8

(D) Federal Government/ Hull rIaTD

62. The Quami Ekta Dal was formed in 2010 in Uttar Pradesh by: /
D 293 v T I §39 R e 2010 e gt e et famr A
(A) Ali Brothers/ »®! §gad (B)  Ansari Brothers/ ATd HETH
(C) Sonkar Brothers/ R6ad g€ (D) Singh Brothers/ fHul gEH

63. The Latin word foedus giving birth to the term federation, means:/
STINE HEE § HoH ¥ TS BTE HEE foedus TMIE Y :
(A) Treaty/Hdi“' = ‘ (B) Party/ Ural
AC)_ Division/ 5 . (D) Government/ Aigad

64. How many recommendations wgi'e made by the Punchhi Commission?/

e i & et fATFas oo .

A) 273 ~ (B) 312 (C) 282 (D) 310
65. Power of Impeachment can be a.distinguishing factor between which of the following?/
HIeH & 7S I fafimi &9 fom = &R 9 fedye orgar 3 AaRr Q7
(A) Lok Sabha & Rajya Sabha/ & gl %3 I HI"

(B) Vidhan Sabha & Vidhan Parishad/ f€Us 8" w3 feurs Yime
AC)_ Lok Sabha & Vidhan Sabha/ B A5 w3 feurs A

(D) Rajya Sabhia & Vidhan Parishad/ I 78" %3 feurs Yme

66. Which of the following is a disease caused by Arsenic as a pollutant?/
I3 fadtvit i faast frdt e ygmer o wighfad args J&t 37
(A) Parkinson’s Disease /ITfeH® Id
(B) Black Foot Disease/ 84 [j fanrch
(C) Hepatitis A/ JUSTEIEH &
(DY Huntington’s Disease/ Jfddres & fanrd

67. The International Solar Alliance works through:/
WIIawedt gor dona feant et - g9 3;

(A) STAR-A (B) STAR-B (C) STAR-C (D) STAR-D

68.  Aluminium jon i produced by which of the following?/
s 3 fosd) 9 form o O el s
(A) CFCs =

(B) Smog/ ANdT
(C) Electrolysis/ fedsamsretfim (D) Pollution/ YgHE



“ < ,,-/
@:-"‘TECFCS (Hydrochlorofluorocarbons) are also known as:/

HCFCs (TEI3a330835ma9w) § fom =i & wfomn qter 3.

\_(A)” Natural Sink of Ozone/ §1& w1 guat fia

LC@/ Natural Barrier to Ozone/ @ﬂ?? po3si| guddl garee

X

70.

(C) Natural Drain of Ozone/ §3& & Juds 396
(D) Natural Source of Ozone/ §1% & gegdt 73

TU(?N (International Union for the Conservation of Nature and Natural Resources) publishes
which of the following:/ '

IUCN (B3dmas Hawa 07 © dHaens win 399 713 359 fIianm) 36 fafimt 43 fam

o (A) _ Annual Environment Report/ ABTS @13r2d< falge
_AB) WWF Report/ WWF fallae

71.

72.

73.

718.

(B)” RBI Central Board/ RBI a€d! §93

(C) _ Red Data Book/ 35 37eT ¥4
Report on Nature Conservation/ §2d3 € RIS g1d fauae

Which of the following lakes is not located in Meghalaya?/

IS fodort St 189 faadt Wurfenn &g Afaz & Q2

(A) Barapani Lake/ 979U} §1% © (B) Umhang Lake/ 8Hata1 §15
(C) Ward’s Lake/ 93 €1 915 (D) Tam Dil/ 3HfeT

Rakesh Jhunjhunwala was famously known as Big Bull of:/
IR Fagaes  fan = faar ¥ e wfen aier

BSE (B) Dalal Street/ T8'% A4l
(C) Wall Street/ % AIdIC (D) NIFTY

Which of the following Temple complex is around Bindusagar Lake?/
figram ¥im ® wid-oad 36 it i faaar veg shu@am O
(A) Brihdeshwara Temple/ fﬂi@'ﬂ?ﬁ Hea

(B) Lingaraj Temple/ f8dra Hed

(C) Padmanabhaswamy Temple/ USHATSATH Hed

(D) Ramanathaswamy Temple/ IHATEASH Heg

Revathy Iyer has been 'appointed.‘ as one of the four Iv)i.rectors to which of the following?/
e niEnig § o fsfimit 29 fom @ v srfedareat R fife = fogaa <tz famn 3
(A) NITI Aayog/ 31t mrear

(C) National Commission for Women/ IHTH HigsT
(D) None of the above/ Quda3 féd et &

Which of the following countries celebrated its Independence day along with India on
August 15"/

15 WaF3 § 9793 ¥ &5 fan 21 & »iye §393" feen Hefen 1 2
(A) Pakistan/ UTIASS (B) Malaysia/ HEH
(C) North Korea/ €3t adhor ’ (D) Vietnam/ Smizany

CCDEO



76.  What has been recently discovered by the UK Scientists in the Hawaii Islands?/'

T eyt T GR R fefammanlt oo v <t fi¥a S Afsmn famr 37
(A)  Uranium deposits/ Gaa © 939
(B) Shale gas/ nS A

(C) Hydro-thermal vents/ TESI-gIHG A |
(D) Coral reefs/ 338 oA

77. Cassini was the spacecraft of NASA ggrovide new view of which of the following planets?/

ATH T FIE YBTE WS Jat fefimi 38 fR gfu v ae AR yEe 99w 97
(A) Mercury/ §0 2 (B)  Jupiter/ gUica
(C) Neptune/ mg'é' (D) Saturn/ Hal

78. Free email address in Hindi got launched by which Indian State?/
fi<t €9 Ho3 s U1 o 9193t I ©rar Bg &t fam Fe
(A) Odisha/ 85 (B) Bihar/ fgad@
(C) Rajasthan/ IHAES (P} Uttar Pradesh/ €33 Ye#

79. Space debris has the highest number in which of the following countries?/
yBE ¥ 1R & i 5t Y S RS fam fes e I<u
(A) India/ 3793 ‘ By~ USA/ i
(C) Russia/ gA ‘ , (D) China/ §1&

80. Gaganyaan is the name given by India to which of the following:/
TAEES T193 T It 3 & fam & oz famn a4 9:
(A) Human Space Mission/ HoHt B3 fHAs
@) Mars Mission/ Has THAG.
(C) Robot Space Mission/ I8¢ AUA fHAG
(D) None of the above/ SUGCES &g I¢t &t

81. Which of the folloWing is NOT part of Ministry of Statistics and Programme
Implementation?/

Jot i3 £ fagar mefenrfean w2 Yoo fEugiadna H3ad = fdmr o 3
(AT The Statistics Wing/ Ficferfear f&ar

(B) The Programme Implementation wing/ ":[E!'IH'H BTY JI6 BT Ea1

(C) Central Statistics Office/ ded! FfCHfCaH Tg3d

(D). The-Research and Analysis Wing/ B »73 ferdne fean

- 82. Yojana Bhawan, New Delhi is the headquarters of which of the following?/
(A) NAAC
(B) RBI

\{C)" NITI Aayog/ BIST MTTar

(D) Ministry of Home Affairs/ g[fg H3T®"

10 C



83. Which of the following sectors has received the highest FDI for 2021-22%/

2021-22 B 5 R AT R R 3w I 2u py Y3 a3
(A) Food Processing/ g3

o« (B)  Computer Software and Hardware / Sz Moedn@ w3 Trasdwa
« (C) Banking/ &felay
_AD) Biochemicals’ He-3fre

it 55 b e 8 e
W Short-term finance/ 8t fityre T oeidR
(B) Mid-term finance/ T3fmimal e T OetRR
(C) Long-term finance/ T fitire Trs oetdR
(D) Year long finance/ A 3T O8AR

Public expenditure in excess of public revenue is defined as:/
T539 HEE 3 U TGS 499 g fom 39t ufssis st fam 3
(A) Reduced Financing/ W& 3¢t ofeafita
(B) Debt Crisis/ I35 A<

1(Cy~ Deficit Financing/ Wi Oiedfilat
(D) Economic lag/ {TSiER Yga<t

86. Texule mdustry saw a rise in Punjab in which of the following centuries?/

e e SaneEis Sota feu Js Tt T ot it g ror Sfom ¥y
(A) 14 Centurv/14< Aol (B) 15" Century/15d A&l
(C) 16= Century/16S Rl (D) 17 Century/17S A=l

@ Punjab was attacked by Babur for how many times? -

“ e 3Tesidsomds®

= N W )
A) 4 ) S < 6 ) 7 ,
(a) B 0 S e
88. The vear 1601 saw the completion of which famous Sikh Gurudwara?/ SRR
S 1601 TS0 o3 yiFa iy Joenm & AysssT I
< (4 Harmandir Sahit/ TigHes wiag

(B) Kartarpur Sahib/ IIITYSI Wil
(C) Kiratpur Sahib/ FI9SYS HidS (D) Patna Sahib/ YIS Wfgg

89. Punjzb was annexed by British in 1849 under which Governor General:/
1849 F=g vioas A faA TE9ad HaodS T IR IE YA § winy@ witts 53 fomn )

(A) Lord Mayo/ BGSRE (B) Lord Mountbatten/ 3198 Wades
42" Lord Dalhousic/ T8 SEIH (D) Lord Comwallis/ B8 ISR
.

) Which of the following river is connected to Sirhind Canal?/
35 T @mwwmmgﬂaﬂp |
B Ravil TR (B) Beay/ T TQF Sutle)/ A3TW

{ e
b 11

(D) Jhelunv/ ATSH
c CCDEQ



MENTAL

’ , 45 "/v'k,_. *‘::%’!
91, What comes after 6, 25, 62, 123, 214, 341, %/ 6, 25, 62, 123,214,341 2272 f #Z
(A) 500 (B) 513 AT 510 (y >

O O k.
92. What comes after 4, 13, 41, 126, 382, %/ 4, 13, 41, 126, 362 3 FHZ T /fff‘?!’l-;’; :
LAY 115] B) 1110 (C) 1111 (D)

i
o

93. Find the missing valuc 480, ?, 24(, 80, 20./ o Hfgrm B3 450, 7, 240, 29, 2.
(A) 80 (B) 240 719 () 480 (D) 20

’ ’ ; esrh Lv‘ Ot‘
@ In a group of zcbras and ducks, the number of legs is 48 more than twice the numoer Oi
> heads. The number of zebras is /

s st

#w»éézwéfﬂanyaféa,ztzféfarzzﬁfnaféi#ﬂmwfmwfaaméfazéf__%
(A) 32 (B) 26 (Cy~ 24 (D) 2%

95. A person moves to the south direction and then turns to his right, again he tums 45 degree
to his right side, which direction he is facing now?/ _ i
R fenierd) Yo fom 25 s 3 w2 T i@ #3 umA yzer 3, 299 €345 feardt w2
IR B yE 9, g R e o fan fem 5 97 i}
(A) South East/ ¥4 Ydd LBy North West/ €23 UgH
(C) South West/ T4 UgH (D) North East/ €23 U338

Read the following information carefully and answer questions 96 to 99 :

Six persons M, N, O, P, Q, and R are sitting in two rows, three in each. Both rows are facing
each other. Q is not at the end of any row. P is second to the left of R. O, the neighbour of
Q, is sitting diagonally opposite to P. N is the neighbour of R.

Jot i Areardl § fons 518 uZ w3 HETE 96 3 99 € A< feB:

2femadt M, N, O, P, Q, »3 R © 937d1 fa 93 I%, 994 &8 s ©2 939t fdq ga < wigh-
AHE T Q fR A I3 R B RA s I R T IPEABTW 3 U QT IMZ O, P =
Aone f392 gu feg 857 A N R T il d

96. Which of the following is sitting diagonally opposite io each other?/
5 ffimii f& faa3 e g © Arove f3ge gu e 88 97
(A) MandO (B) Pand M ‘_,(2)/ M and R (D) MandN

97. Who is facing N7/ N & FrH g 37

@A) M B) O (C) P BT Q

i 98. Which of the following are in the same row?/ 35 faftmii f&d farad 63 sz i go2
PoC M énd,Q | (B) QandP (C) OandN (D) MandN

00,  Whi Ghinan i sl ' bl

2 X?ic};txg‘ ¢ following is in one of the two rows?/ feTst & farad 2 T3t fed iz ffg 7w?

G’ (B) OON " LX) PNR DRI i




> 1 -
(7 4 9 /3'8 ()'_(_D_ﬁ’,,_-i:——

\_/ \__/ k,/'
Y , D S 5(' j " .s ' » S
w What comes after: 4,6.9, 1359 /4.6.9, 13%? amfe feg it nirer 9:
eS| 3
AT 20 (B) 203 ©) 165 (D) 163
Loop o @
.18 11 ,¢ | gpcligd 158
What comes after: 115+ 125+ 145, 165 7 /115 125+ 145 165 2 ¥ feg At mer o:
1
(A) & (B0 (C) 19%
102. Solve the given analogy: If 20:34 then 40: 2
{3t Iret IHgU3T § I8 99: 299 20:34 3 40 ? )
(A) 70 (_(BY" 74 (C) 176 (D) 79 W'

A
4

103. Solve the given analogy: 1f 3:81 then 4: %/
&3t 9rEt AHguUzT @ I8 99 A9 3:81 34 2
AT 256 (B) 225 (C) 325 (D) 185

104. Solve the given analogy: If 7:342 then 8: 2/
&3t aret AHgU3T § I% o3 Add 7:342 318:_ 2
(A) 500 (B)-311 (C) 712 (D) 700

105. How the word HONOUR: PP S 2 is coded where CREATOR:SBP and OFFICER:GJF./
HONOUR HEE T3 : J? ff8 CREATOR:SBP %13

OFFICER: GJF 9
(A) JHI . _(BYPPS (C) PTL (D) ICI

(T
106. Write the code for EN@& £ £ ? where SERIES:FST and IMI(CT\[SQJ /

ENERGY T€1 a3 fsd: 2 fH8 SERIES:FST 3 IMPACT: DQJ ¥
<=(A) ' HFF (B) HHT (C) OKT (D) OTH

107. As Breeze:Cyclone similarly Drizzle: 2

fAe° Hoy godades fesgigeast

(A) Earthquake/ g9'& - (B) Stornv/ 3[1‘?5\ :

(C) Tornado/ §<3d : : D) Downpour/ HI®U'F Hig
108. As Bread:Yeast similarly Curd: o A" 895 i el 39 9

(A) Fungi/ & \B)  Bacteria/ HIT'T

(C) Germs/ &ITE (D) Virus/ f"i’ﬂ"g
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109. In questions 109 to 111, four words have been given out of which three are~aﬁke in some
manner, while the fourth one is different. Choose out the odd one./ ; :

YHS 109 3 111 &5 99 wee &3 9n U5, m@f@éf?ﬁfaﬁwfaﬁaufeafeafﬂﬁ%
T T Q2R § T3

(A) Temple/ Hed (B) Mosquc/ HAfre

(C) Church/ 939 (D)~ Monastery/ e
110. (A) Chandigarh/ S5ta13 C)y~ Mumbai/ Heeh

(C) Lucknow/ BYaY (DY Andhra Pradesh/ WfTd" lffﬂ
111. (A) Spectacles/ BHT THM waat )y Goggles/ Y THT GHHT

(C) Binoculars /ZJ€Ia BT Microphone/ HEIQO®

In questions 112 to 114, three classes are given, out of the four figures that follow, you are
required to indicate which figure will best represent the relationship amongst three classes.

112 3 114 f&5, s At bt areeft T3, Eﬂiﬁawémﬁﬁ?m@mm@
mmmwmmamgmm@m _

ONTICa

)] (d)

(A) <m (@ - 1"“3

112. Doctors, Human bemgs Reptlles/ 3T, HaY, aﬂ‘o'rs =S Fﬁ%’ ().(A), (&) (C)OR (D)
00

113. Juice, Nimbu Paani, Beverages/ 9, %8 tﬂs@@sm ) (A), B), ) OR (D)

114, Females, Mothers, Teachers/ HT@T=T, HT&T, miftmmua (V) (A), (B), (C) OR dg)

@)

30 ~ & _ . (36 x4)—-8 x4 _

115. If + means +, — means +, x means and+meansxthen4+8 2116+ 1 2/
HOE < T 4B +, — T HIBE —I-,xE‘THB'PSEI m§‘+ETH3mx3T
(36x4)-8x4
4+8X2+16+1

70 ®) 2 © 4 @) 8

CCDEO

Be-v)%mny * 22y o :

———— )

e et e
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f%’x%m& gkffl':g.g

116. If P-denotes +, Q denotes x, R denotes + und S denotes —, then what is the value of

18Q12P4RS5S6/

AT P TIAEE T+, QIR G I x, REgAe T+ 03 SwaABer I —,
37 18Q12P4R5S6 T WS & 39

(A) S8 “(B)53 () 41 (D) 46

117. Pointing to a man on the stage, Rehana said, “He is the brother of the daughter of the wife

Chet Q_f_my,husband " How is the man on the stage related to Rehana?/
%mﬁﬂéﬂéﬂﬁﬁa&»@'@mmfa@ QIR uF R uzat A ez
A" 7 3 Hge feniadt v Joet a7t mdu A2

(A) Nephew/ I3 (B) Cousin/ @6 3 ,@
Oy Sonis9 QL% (D) Father-in-law/ Figa" > ]

\/11/ 8. Pointing to a lady in the photograph, , Anjali said, “Her son’s father is the son-in-law of of my
(k. mother. ther.” How is Anjali njali related to the lady lady?

= 3nds feu foq a3 < fomar go R viAet 3 faan, “GRR R Tz Ad W e wrd I
%}/"'— et T a3 18 S e O

(A) Mother/ H_’r . (B) cOusm/gz:ﬁ
(C) Aunt/ Wit DY Sister/ \ 9
| :

119. Mr Sidharath walked 40 meters towards North, took a left turn and walked 20 metres. He

again took a left turn and walked 40 metres. How far and in which direction is he from the
starting point?/

oy €33 5 40 Hieg Sfenn, ¥8 um Hign w3 20 Hieg Sinm 8 fug ¥8 uA Hignn
3 40 Hea 3t §a gt fig S fdat go m3 fam fem fiRe 2

(A) 20 metres East/ 20 HieT Uad (B) 20 metres North/20 Hieg 833
(C) 20 metres South/20 HIcT THE L(DY20 metres West/20 HICT U'gH

120. Iam facing East. I turn 100° in the clockwise direction and then 145° in the anti-clockwise
direction. Which direction am I facing now?/

Yoo yge Es 3 Wads < fom R 100° %3 o N wda e fom 9 1450 e

T Najo ge fam fem 35 &
(A) EastUJdd ‘ \/fB)/ﬁorth-easU @:‘5’3—-2]'{]'3
(C) South-west/ THE- UEH (D) West/ U'BH
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